Eastern Oregon University
Concurrent Enrollment/Credit by Proficiency Program

/4 2/
/

Math 112, Spring, 2016 Ixam 2 name/school:
Show any relevant work. For each problem, circle your answer

1. (12 points) For each value of t given below, find the reference number f and the coordinates of the terminal

point determined by ¢.
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2. (12 points) Find the exact value of cach of the following.

+ 2
a. sec(7m/3) -
AN L |
T =
( E /(‘. ;}/\: 7 “—""—

7 3_ = A %o?

,// . =27 _ LO_/&-
= St F —
'{" ;)_ 9z ) ;}5" /Jg
il ’ Lﬁ__a L/{,—]g
+3, —
3. (12 points) Suppose sinz = —2 and cosz > 0. Find:
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4. (16 points) For each of the following functions, sketch one period of the graph carefully, and label the
grid sufficiently to indicate the period and either amplitude or asymptotes.
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5. (10 points) a. For what values of z is sin™!(sinz) = 2?
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6. (16 pomts) I*ind exact values of each of the following, i /
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7. (12 points) If cost = 2/5 and tant > 0, find the values of the trigonometric functions helow.

a. sint b. csct c. tant
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8. (10 points) A mass is suspended from a spring. The spring is compressed a distance of 6 cm and then
released. It is observed that the mass returns to the compressed position after % 8. I'ind a function that
models the displacement of the mass. Assume a frictionless environment.
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